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Note :

POLITICAL SCIENCE
PAPER - III

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.
§
Who among the following referred to the “decline” of political theory ? { "
(a) David Easton and Alfred Cobbon (b) Lasslett and Robert ]5ahl [
() Will Durant (d) Nathenial Hawthorn
1) Gand@© @ ©add) () @ad©f (B @ and )
’ A

Which of the following statements are true ﬁégardimg Pqiitical theory ?

(a) It accepts scientism and repudiates the norma‘v’ .
(b) It synthesises political philosophy and scientific enquh;y’ of political phenomenon.

(c) Itis structural and institutional %rtd examines th(!' logic and basis of political institutions

and organizations. -«
<

(d) Political theory is phi!(_)go*)hical as well as scientific, normative as well as empirical
evaluative as well as explanatory; historical as well as analytical.

Choose the correct answers from the below :
i

(1) (a) and (d) ") 1"(b) and (c) (3) (d) only (4) (c) and (d)
%
3. Which of the following is true of modern liberalism ?
| (a) Freedom o];}thelrindividual as against the authority of the state.

(b) _ Recognise the importance of ‘group’.

(C)l, Supports tLe limited role of the state.

d ) y Supports the state regulation to safeguard the weak.

Choosé the correct answer.

(1) (a) and (c) (2) (b) and (d) (3) (a) and (d) (4) (c) and (d)
ooz | VRCANAN z Faper
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oazs

Which of the following statements relating to Mao’s theory of contradictions are true ?
(a) Contradictions are universal in all times and in all societies.

(b) Antagonistic contradictions exist among the hostile classes in terms of ownership of
productive forces.

(c) Non-antagonistic contradictions could exist among people which could be resolved
without resorting to violence.

(d) Contradictions have no place in a socialist system.

Ty

Choose the correct answer from the below : 'f;

(1) (d) and (a) (2)  (b) and (d) () (@ (b)and () (@) (@) (b), (c) and(d)

L

Given below are two statements one labelled as Assertion (A) and the other labelled as

Reason (R) : ! { (
Assertion (A) : For John Locke, Natural Righ}s"are a prcl)duct of nature.
Reason (R) : State has to protect and safqéuardl these:' rights.
(1) Both (A) and (R) are true and (R) is the right xpl_a:nation of (A).
(2) Both (A) and (R) are true, but (R) is not the rii explanJation of (A).
(3) (A) is true, but (R) is false =
(4) (A)is false, but (R) is true 4 r
<
| Y

Which of the following is not'true of Aristotle’s theory of state ?

(a) Organic conception of State.

(b) State as a magri:iﬁedxiindividual.

(c) Rights of the individual can exist only as a member of the state.

(d) - There i8 mo conflict between the end of the individual and end of the state.

¢ Choose the corregt answer :
(1) (a) and (b) ? '@ (d)and (9 (3) (o) only (4) () only

Machiavelli is regarded as the first modern political thinker because of :
(151 Separation of ethics and religion from politics.
) " Forerunner of nation state.
r

(2
(3) Represented the spirit of renaissance.
(4)

Subordination of Church to state.

=
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8.  Which one of the following statements of Hobbes was wrong ?
(1) State of Nature was pre-political and pre-social.
(2) Sovereign was a party to the contract.
(3) Human nature was dominated by acquisitive instinct, possessive instinct and love of
glory.
(4) Man in the state of Nature was ‘solitary, nasty, brutish and short’.
§
9.  John Locke’s contribution chiefly lies in his : L
(a) Consent theory. { r
(b) Limited Government.
(c) Theory of state as a corporate body. - . * r
(d) Organic conception of state. - { .;
Select the correct answer from the codes given ',lﬁ'élow 3 |
(1) (@) and (d) @ @and@©/ () Mand@© @ (a)and b
/ /
10. Match List - I with List - IT and select the correct alfér from the codes given below :
List - I List- 1L,
(Concepts) “{ (Thinkgr’s)
(a) Veil of Ignorance N J‘r (i) Karl Popper
(b) Alienation __h A (i) Robert Nozic
(c) Piecemeal Social engineering (iii) John Rawls
(d) Night Watchn{?n State (iv) Karl Marx
Codes : |
(a) (12) SCINC)
L 3@ (1V i) (i)
@ @0 f: )
(3) @) (@v) (1) (i)
(4) _ (iv) (111 i) (i)
11. ”1\>[an must eat before he thinks. To eat he must produce. Production is a basic activity”.
Who said this ?
(1) Mao (2) Rosa Luxumburg
(3) Luis Althusser (4) Karl Marx
ooz | VRCANAN ; —
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12.  Which of the following thinkers held the view that “ the probable mischiefs of obedience are
less than the probable mischiefs of resistence”.

(1) J.S. Mill (2) James Mill (3) Bentham (4) Black stone

13. Dialectical materialism of Karl Marx postulates that :

(a) Matter is in a state of motion.

(b) Motion in the matter is due to the pressure of environment. f ( -
(c) Law of transformation is both quantitative and qualitative. i
(d) Conflict in matter is continuous and endless. - e ;
Identify the correct answer : /_/ | ‘,.., E
(1) (@), () and (d) @ @ad@f © J,-"(b> and (d) (4 (0 and (d)
/ .
[ \ -
14. Which of the following statement is correct regarding J.S. LMi,H’?
(a) State is justified in confirming i}sé‘if to limited functions
(b) Welfare policies are moip;lﬁ‘iortant.
(c) State intervention into.jself-regarding’ action.
(d) State interventi!?n into ‘other regarding action’ is justified.
Choose the correct answer{:
1) (b andi(éf‘ (2)  (a) and (b) (3) (a) only (4)  (d) only
15. Which of the following is true regarding Gandhian concept of ‘Sarvodaya’ ?
(a) ' Welfare oflthe majority of people (b) Government by the majority party
(C)II'k J Protection of the minorities (d) Welfare of all sections of the society
Choosé the correct answer from the below :
(1) (a) and (c) (2)  (a) and (b) (3)  (d) only (4)  (b) only
ooz | VRCANAN : —
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16.

17.

18.

Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(a) Charter Act of 1813 (i)  Separate electorate
(b) Charter Act of 1833 (ii) Abolition of the trade monopoly

of East India Company

(c) The Government of India Act, 1858 (iii) Complete abolition of monopoly in trade

by East India Company

(d) Government of India Act, 1909 (iv) Secretary of State for India ' p

Codes : {
@ O © @ " f

M @ @ @) () y

() @) @) @) @) 4 f

©G) @ (v) (@) () - Ii

4) @v) @) (i) () f *',

/
Who presided over the All Party Conferencé (1928 |

(1) Pt. Motilal Nehru Dr. M
(3) Madan Mohan Malviya C.R. Da

Ansan

%

!
Which of the following statemeQ"s are correct ?

Select your answer from code§ alven below :

(a) The Union of India haS"power to issue directions to a state to ensure compliance with
the laws.

(b) Incaseof failure, the President may assume to himself all the funtions of the Government

of that state. * (
(c) TheGovernor of a state is appointed by the President and holds office during his pleasure.
(d) - The Govetnor is not responsible to state.
s Codes : P

1 @ (© andfd) L (2)  (b), (c) and (d)

®) (a), (b) and{(c) 4) (@) (b), (c) and (d)
19. W}'lich of the folhowing is not recognised as a “tension” area in Indian federation ?

(a)} . Inter-State Council (b) Article 356

(c) y Role of the Governor (d) Union-State Financial Relations

Choosg the correct answer :

a) and ( (d) only (3) (a) only (4) (c) and (d)

s IHI !H||||H|“|\|H||\|“H|||\|\|\H||H|| 10 —
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R /
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TA R \
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- T ‘4
[ @ © ﬁ?}p) @ () () 3R (d)
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20.

21.

22.

74th Constitutional Amendment Act of 1992 does not apply to the scheduled areas in the
states of :

(a) Rajasthan (b) Haryana () Uttar Pradesh (d) Odisha

Select the correct answer from the codes given below :

(1) (b) and (c) (2) () and (d) () (@ (9and(d) (4) (a)(b) (c)and(d)

Match List - I with List - IT and select the correct answer from the codes given Below :

"

List - I List - II d
(Movements) (Personalities) { F
(a) Chipko movement (i) Medha Patker
(b) Narmada Bachao Andolan (i) K. Chandrasekhar Rao g
(c) Right to Information movement (iif) Sunder Lal{Bahui'guna
(d) Telangana movement (yﬂ’ Aruﬁe? Roy
Codes : I.l"r . I.'
@ O © @ f‘ \
M @ 6 6@ ) /
@) ) @ @) @) . !
@) () @) O ) ( |
@ O @) Gv) () 1? ¢

Arrange the following Vice-Presidents of India in chronological order and select the correct
answer from the codes given below :

(a) KR Narayana:"t { (b) Gopal Swarup Pathak

(¢)  Krishan Kant (d) Justice Mohammad Hidayatullah

Codes : 4

M @ o) (a)f}fm

(2)  (b), (d), (©)}()

(3) _ (), (®), () @)

(@) ) @, @) ©

II'.

23. Whi'éh of the following pairs showing the state and dominant caste is not correct ?

(1) Prunjab - Jat Sikh (2) Rajasthan - Rajput

Kerala - Velma (4) Karnataka - Lingayat

T » Faper
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20. 74 9 Gfqu™ HIEA 1992, TR T % orqgfed &7 § @] T et 2
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24. Who among following classifies regional movements in India in terms of “ethnic” and
“nativist” movements ?
(1) Sajal Basu (2) Myron Weiner (3) James Manor (4) Rob Jenkivs
25.  When was Inter-State Council under Article 263 of the constitution of India set up in India ?
(1) 1961 (2) 1972 (3) 1990 (4) 1998
26. Match List - I with List - IT and select the correct answer from the codes given Below :
List - I List - II .rx
(Student Organization) (Party Affiliation) . ,,1
(a)  Akhil Bharatiya Vidyarthi Parishad (i) CPI !
(b) All Indian students federation (i) CPIM y
() National Students Union of India (iii) BJP Tl f
(d) Students Federation of India (iv) Congress (I{) (
Codes : /_.4’ »
@ b © @ / |
O O G ) G \ |
@ (v G (@ 0 : \ -
@) G O @) G .
@) @) @) O ) a e
!
27. Since when consensus has emelﬁedfin India that the post of Deputy Speaker should go to
opposition party ? ) { <
(1) 1984 (2) =1989 (3) 1996 (4) 2001
28. Match the following!?nd select the correct pairs :
List - I ' { List - II
(Authors)) (Books)
(a) . Selig G- Harrison (i) Green Revolution in India
~(b) Rudolf and,Rudolf (i) Indian Paradox
{ (c) Frankline Ffanll'hel (iii) In pursuit of Laxmi : The political Economy
- of the Indian State
(d) Myron Weiner (iv) India : The Most Dangerous Decades
Codes : |
@ (B S (d)
(Dry @) @ G (1)
2 =@ @ @v) ()
() Gv) (@) @ ()
4 @) (@Gv) G @)
s [T 1 Faper

www.examrace.com



24, Trefafed § @ o9 9Ra B & nicier @ ' Joda’ qen ‘ wdenia’ ST & el | Sfied hidl
g7
(1) 9999 (2) AR 9 () AR (4) & SHAfRSH
25. 9RA H 9RAT Hia9™ % AIo08 263 & ST ST<R-{d IRUS 1 T3 &dl {ohal 7417
(1) 1961 2) 1972 (3) 1990 (4) 1998
26. o - 1% G - 113 e i e e o A F A wd e
et - 1 et - 11 L
(BT TI3) (Fag UTEl) | f
(a) Afga 9rd foneff 9ftwg ()  HideTE.
(b) A sfead Loq HhewH (i) wWAsmETR. - J
(c) -¥Hd ™ JHFT ATk sfean (i) WS, (
(d) TSH HewH T sfed (iv) Efﬁi‘ﬁ(sm‘)
e :
(@ () (9 (d) ,' _J
® 6 @ @ @ \ -
@ @ Gi) @ 0 /
(B) @) (@) (v) (i) ——
4) @) (v) @ (i) N (
27. ®9H Wﬁwmwaﬁwﬁﬁaﬁﬁﬁwwaaﬂwmamﬁﬁmwﬁ?
(1) 1984 (3) 1996 (4) 2001
28. Fe - 11 Hel - 11§ GAfera hifsrd qen = feq 70 e & 9 78 W 43 -
o (] -
(@) | ()
(a) . e S, gRe () I Rareged 39 sfen
 (b) EEIeh U1 ESICE (i) zfeam tuei
L (o) Hefed % (il) 37 THIE AT® A&HI : T Uifclfehal ShMMHE! 3T T sfead
' we
(d) . "R A | (iv) 3fean : T A S~y fewhed
FE - |
L@ () (@
1) Wa) @) 3 (i)
2 @ @ (Gv) (i)
3) (1v) (111) (1) (11)
(4) (i)
vozs [ IH\I\I i
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29. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(a) S.P. Gupta Vs Union of India (i) Taj Pollution
(b) M.C. Mehta Vs Union of India (ii) Basic Structure
(c) Keshavanand Bharti Vs The State of Kerala (iii) Judges Transfer
(d) Common cause Vs Union of India (iv) Petrol Pump AllotmenE &
Codes : ; f;
@@ (b) (o) (d) { r
O G 6 @ ) *
@ ) @ 0 G = :
@) () () @) 0 =S Y
@) 6 @) (v @ f/" ]
J . |

| |
30. Which one of the following Acts has been m%de'under Article 34 of the Indian

Constitution ?

"

(1) The Army Act R
(2) The Armed Forces Special PO\gér"‘Act (AFSPA) r

(3) The Border Security Forie?d:

(4) The Navy Act -

31. Which of the followi}}g statements is not correct ?

(1) TheUS. Houselof Répresentatives is weaker than the British House of Commons.
(2) The Hopsa;;e of Representatives is weaker than Senate.

4 (3) U.S. Execuive is not accountable to U.S. Legislature.

. (4) The House of Ii'epresentatives has overshadowed the American senate.

32.  Which one of the following statements is not correct ?

(1)|k Swiss federal legislature is bicameral.

(2) ‘:" The Lower House is called the National Council.
(3) The Upper House is called Council of states.
(4) The qualification of voters and candidate is decided by National Council.
s [ [T v
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29. et - 1 Gt - 11§ gafaa w1 R F= KU e et 9eea 9 9@ S g

(a (i) TS HeE

(b (i) T Bt

(c) hYEMS AT oM Hid T4 (iii) ~ATEATET T ST
(d) RIAA IS oW YA AE sfear  (

)
)

iv) Ui 99 T e

e : 'f ’ 1
@ () (0 @ ( [

D G 6 G W)

@ Gv) G @ G .

@) @) Gv) @) () - Vo

@ 0 @) @) ) f "I.

J
30. Tr=ifafeaa § 9 =F T stfufrem Wqﬁaﬁﬁﬁmﬁmmw%?

(1) <t et TR
@) @ iz wifa S T T (R f 48
(3) & S Frfdt P TRy ;{
(4) e TR H :

31. frefafed § § #F-91 Fer] 98 & § 2
(1) aﬁﬁwﬁuﬁﬁ%&wﬁ%%maﬁﬂ?ﬂwﬁﬁg,cfi-nﬁchwu%l
(2) wfaffy }T HHe 1 ga § SASR B |
(3)  oTHRERT i FRETTerhT ST foem Hee (wifseet=) uid fswer & 2
) uﬁﬁfaamfsrvéﬂﬁﬁaﬁﬁﬁz@afwm%l

.r (4

32, fefafed # 9 F-a o T T 32
(1), feaeseie /&1 theta afsrer=r fgaeras 21
(2) ¥ =98 =1 HeA *I NS FEAe HEl S ¥
(3) 3T v TEH I SR SR DT FE S |

‘-Idt‘ddld:ﬂ qaqn 6‘-'-IIC\°||{ T Aar 1 o YE hISTAA ! %l

-

i 1
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33.

34.

35.

36.

¢
O
N
—_
6) ]

Which one of the following is not a feature of United Kingdom judiciary ?

1 Based on common law tradition.

2)  Devolution to Scotland have given more scope to a traditionally restrained Judiciary.

)
)

(3) Devolution to Wales have given more scope to a traditionally restrained Judiciary.
)

Judges of Higher Courts are appointed by the Crown on the recommendations of the

House of Commons. -
f
7

The Magna Carta, the Glorious Revolution and the writings of John Lock‘e all Contrlbuted to
the strengthening of Great Britain :

(1)  Absolute Monarchy (2) Ethnic Rivalaries y
(3) Parliamentary Democracy (4) Imperialist {"olic'iﬁes

A

Which one of following is correct ?

(1) K.C. Wheare : The English Copstltutl
(2) Robert Michel Iron Law of Ohgarchy(\ d/
(3) G.Savtori : Moderate and Extreme MultlaPai'ltJy System
(4) Bagehot : Party P}Q?llit'i‘cs
Vi <
Match List - I with List - II'and select the correct answer from the codes given below :
List - I . . List - II
(a) Pareto | (i) (.Circulation of elites
(b) Mosca . | (ii) History is a graveyard of aristocracies
(c) MicheI; d: (iii) Theory of the masses
(d) Gasset f (iv) Iron Law of Oligarchy

@ ® @ @

@ O 66 @)
@ Y6 @ G ()
3) <ir> () (Gv) (i)
(4) () @) ()
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33. fr=fafed § @ &1 FARee faren it =meafas &t fagma =& € ?
(1) 38 T FF TR T ST
(2) TR & AR ¥ IRWRE ¥ F FREifa = w5t gurer se T 2
(3) I°E % AN ¥ URWRE &9 W HH - =mawferent & G 9 W ¥
(4) W%w&ﬂ?ﬁﬁﬁgﬁﬁmmmaﬁf&wﬁsﬁ%mwmwmaﬁ
Gﬂ?‘ﬁ%l i
O ..f‘; ’
34. HTI I, TREU ifd AT ST Al H AN o71fs Tl 7 I o1 [ ASEd g
e fea B
(1) frede T (2) o wfoge@ <
(3) HESF Wik (4) e ARE
| y A
35. fiefafed § 9 &F @& 82 / \ ]
1) Fd. TR . gvie w1 gfaue \ ‘/
2) e faera . 3TUdd 1 R HIT
(@) SgEad IER qU18Y, g At Fomedt
(4) wSER a?ﬁxﬁﬁﬁ
A
36. vﬁ—mﬁnﬁ—n@gﬂﬁaﬁﬁqawﬁﬁqnﬁﬁﬁuﬁwqﬁa:
w1 o
(@) W& (i) | siforsrt =01 wReTer
(b) . HrERT W 4 (i) 3faera sl %1 wfgwm T
J (o) TaRmm a4 (i) A ST o st
d) TEe f ' (iv) TS 1 FER FEA
%Re: -
@ () @ (@
@ O @) ) w)
(2 LG @) Gv) (i)
(3) d) (i) < v) (i)
(4) (i) (iv) (i)
D13 HIH\IHIH LR s Paperii
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37.

38.

39.

Political institutionalisation involves :
(a) Political mobilisation (b)  Political integration
(c) Political representation (d) Political Fragmentation

Select the correct answer from the codes given below :

1) @ (®) (© 2) @, (b)) G (@ () @ © @

4
{
Ip' [
Which countries were the basis of the study of Almond and Verba’s ‘Civic Culture
(1) Chile, US, UK, France, Spain -j . [
AN
(2) US, France, Mexico, Italy, Germany l,_/ r
/ .'
(3) Mexico, Germany, Italy, US, UK f \
/ J
(4) US, UK, Chile, Mexico, Spain \ {}
A (

The five stages of economic grox(ch proposed by W.W. Rostow are :
; )

(1) Traditional society, m_e_rca"'ntile capitalism, industrial capitalism, financial capitalism,
globalisation.

(2) Preconditions fPr take-off, take-off, maturing of industry, industrial capitalism, full
employment. {

(3) Traditional society, preconditions for take-off, take-off, drive to maturity, the epoch of
high mass’ econsumption.

a

4) Preconditi#ns for take-off, mechanisation, industrialisation, take-off, financial

capitalism.

40. Wi'.liﬁh world leader gave a special concept of ‘Development’ after the Second World War ?
(1) Branklin Delano Roosevelt (2) Harry Truman
(3) Jawaharlal Nehru (4) Winston Churchill

ooz [ HNAEA AN 2 —

www.examrace.com



37.

38.

39.

TeTfaer Heemas § wnfhe §

(a) TSTHifqeR wArHer=<T (b) T o

(c) USHifas gfaffae (d) USHITdw ToEe

i few e g § 9w s ghe

1) (@, ) (© 2 @, ®), @@ @) (@ @) 4 @ @) « ’;

STHIS qYT TS kT TN Thfd’ & reaad | foh-fort <ol 1 Smemsran T o ?

a2 {
(1) foeh, 3 @, 7 %, Wi, T () 9, wiw Afw), seft, s
/ |

/ l f
(3) Wfomsl, AT, s, 4 UH, 4 F (4) [ 4T, igéa‘_,-’ﬁlﬁ, Afeqah!, T

To0g, Tog, T G FAIeId Wﬁmﬁﬁ%ﬁ%qﬁw%r
1 '1“' d' - < .
(1) TR A, Ao Yeiare, sienfie detar, faia Joiare, yHeets |

(2) ST ST Kl T8 WS, SHT ST, SN KT qRug, 3Tk Yefrare, gof AR |
{ -
(3) wwﬁmwm,s@pqmﬁ@ﬁ,mmﬂﬁwﬁwm,ﬁwvaw
FATI
"

/@) S Wﬁﬁ T, TR, SR, Sehy e, o gefrare |

Wﬁéﬁamﬁmﬁlmﬂ%@%w‘ﬁw’ﬁﬁﬁﬂmwwﬁ?

40.
1) ¥ H::dvrcdd feal Taee (2) g
(3) AR A ATE 4) foeea =fa
ooars [ ITHIINANI . —
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41.

42.

43.

oazs [

What are the three types of political culture according to Almond and Verba’s study ‘Civic
Culture’?

(1) Parochial, subject, participant (2) Citizen, communal, democratic
(3) Associative, adjudicative, parochial (4) Feudal, semi-feudal, democratic

f
Choose the correct answer from the codes given below : r#

Arrange the steps in the working of the general system of Proportional Répresentationrin the
correct sequence :

L

r

(a) the candidates are arranged in order of the votes they receives

AN 4 |
(b) each party puts up a list of candidates eq/ga’l to the number of seats being fought.

|
(c) the leftover votes, or remainder votes ate divided up between the candidates.
|

|
[}

(d) Lists can be closed or open, open lists allow yo es to indicate individual candidate
preferences and vote for individual candidates.
1) (@), (b), (c), (d) L © 09 e

< J
@) (b), (d), (a), () H @ (d) ) (o) ()

Given below are twq stattments, one labelled as Assertion (A) and the other labelled as
Reasoning (R). ' {

Choose the corgect answer using the codes given below :

" Assertion (A) : ?nly, when power is combined with authority does it have legitimacy.

Reasoning (R) : Power is the use of force over others.
(1) " Both (A) and (R) are true and (R) is the correct explanation of (A)
i
(2)} _Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) - (A) is true, but (R) is false

(4) (A) is false, but (R) is true

AR z
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41. STcHIS TN TGN o STEHIA ARG TEHiq' & SR A ThR o TIash fagid 3§ ?
(1) HifE, oo7, wrieR (2) I, HTEURIH, AlRdiiTh
(3) efusTE, stfafoiarere, wifha (4) T, TG WIHdT, SRR

42. ¥ fou T e H G W I I /
£ s
AT dfferce 1 WM qoedt & s H Wil = 1\ wa | et Hifsd p

(a) THHIEAN %1 3% T Hdl & A H afeed fpmsman g1
(b) Wwﬁé@mﬁﬁwm%mﬁﬁw%ﬁ%@mwﬁl
() Wawwﬁmﬁﬁwﬂmﬁﬁaﬁﬁéfw% ]

i | |

I
(d) et ST S1ee Ted 8 Tehdl €, ST Yo @ sl SeieaRt w1 Stsfiar w wdi

3T e qT SfoRTa SHECaR] i Ha<H hi St g
1) (@), (b), (), (d) 4 k(2) (©), (b), (d)', (@) ’
(3)  (b), (d), (@), (o) X 4 d_-{ @ (d), (®) © (@)
P

43. ﬂﬁammﬁqnq%‘;@@aqﬁmm(maﬁt@%ﬁﬁ(R)argrw%ﬁ
ﬁ%ﬁnm@ﬁ%w{ﬁﬁﬁ:
TR (A) : 9l VI 1 T & TR &, qeft ToaRt e
fa%mywﬁsg%%ﬁwmuﬁﬂ%
1) (A)aﬁt(R)laﬁ'—ﬁw%aﬁ{(R), (A) T T SIS T |
@ @ R (R)l‘@l"ﬁ | 8, W (R), (A) F1 T T T 2 |
Ol (A) ¥ ¥, T (R) A ¥

(4) (A) A T, T (R) 9 T |

o-azs [ LRI :

W
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44. Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II
(Author) (Title of book)
(a) Gane Beinton (i)  Europe in Revolutions
(b) Ted Gurr (i) Anatomy of a Revolution
(c) Charles Tilly (iii) States and Revolutions
(d) Theda Skocpol (iv) Why Men Rebel {
Codes : r
@ B © @ §
M 6 6@ G ‘
2 @ @) @ () y
@ @) G 6 ) e ‘
(4) (@) @) @) @) I - |

A\’
45. Tick the correct option from the codes given p{elow 1 |

' | I
The theories of modernisation were criticised by : ‘ /

(a) dependency theories (b) | liberalithgories

() underdevelopment theories (d) world-sgftoems theories
Codes : 4 f ™

1) (@) (), (9)(d) «f @ @ b))

®) @ © @ R RN OACY

46. Who among the following do not make a distinction between public and private
administration ?

-

(a) Henri Fayol i‘ (b) {M.P. Follet (c) Luther Gulick (d) L. Urwick
Select the correct answer from the codes given below :
(1) - (a) and*(d) (2) (b}, (c) and (d)
/G) (@) (b) andefey, (4) (@, (®), (© and (d)
47. Who among the following laid down ‘Seven principles of organisation” ?
(1) » Gulick and Urwick (2) Mary P.Follet
(3)'. Henri Fayol (4) F.W.Taylor
L]
48.  Which one of the following is not a principle of organisation ?
(1) IIIierarChy (2) Span of Control
(3)  Unity of command (4) Staffing
s [N 2 Faper
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44, e - 1 Gt - 11§ gafaa w1 ok = feu U $e § 9 9@ s® g

Tt - 1 T - 11
() (TETh <hT )
(a) T S () T e
(b) W (i) STRE #AF T RaeRe
(c) e feea (iii) F<d e RareErd
d) F=IwREIA  (iv) =E A o p
%< . &
(@ () (o (d)
L @ @) @) (v)
2 @) (@v) @ (i) (1
3) Gv) (@) @ (i) ™ %,
(4) @) @) Gv) (@) A .1
i i
45. 9 fou T e § @ wE faeen 9 f 1/
SYfTRTHT0T o THgla &l A= 5 aﬁ‘?} off |
(a) Trsian =1 fagia (b) SeRETE! e
(c) AfershraraTe 1 fagia V4 fava-sben fagia
Fe -« q.{ '
M @ ®) @@ @ @A®), (© 3) (@), (9 (d) 4) (b, (d)
46. Trefafed & @ o9 oie Jomea den fsft yemes § 9 & #ar?
@ Fw@ () ;{ LR e o (c) TR Tfaew d) Tafaw
= e e g e IW g
(1) (a) 3R (M @ () () R (d)
[G) (@ b aﬂvi;) 4 (@ (b), (9 ¥ (d)

47. frefefas § & frey ¥TeT % O faar’ fifa fmd 2
1) Tfa® a0 Waw (2) W RE@e (3) T A (4) TUH. Ty, e

\
48. Frfefed § @ S G F1 fagid T 82

1) veETH IRERER KCIRIERELSIN
(3)  STRW B THA (4) HHT =
o-ozs LA 2 Papecn
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49. The literature on new public administration lays emphasis on :
(a) Relevance (b) Values (c) Equity (d) Change
Select the correct answer from the codes given below :
(1) (a) and (b) (2)  (b), (c) and (d)
(3) (@) (b) and (d) 4) (@) (b), (c) and (d) :
f
4
{
50. In an informal organisation, authority always flows : { r
(1) upwards (2) downwards d
(3) upwards and across (4) across and downwards -
~ B -
.// #
/ .'
51. ‘Garbage Can Model” was developed by :  / , /
/ f
(a) Michael D. Cohen (b) ]ames‘}. arch
(c) Peter Drucker (d) Johan P! Olsen
Select the correct answer from the co‘clés given below!’:
N L
(1) (a) and (d) T (2) (a), (b) and (d)
(3) (a), (b) and () " 4)  (b), (c) and (d)
{ -
52. The traditional home of pejtronage bureaucracy is :
(1), UK. = 4 (2) US.A. (3) China (4) France
a
53. Who among the following coined the term ‘representative bureaucracy” ?
(1) » Donald Kirgsley (2) Peter Blau (3) Max Weber (4) Martin Albrow
54. Whi’fc[h one of the following was the first country to enact a Law - Freedom of the Press
Act - as early as in 1766 ?
(1) UK. (2) US.A. (3) Sweden (4) Denmark
ooz | NRCANAN 2 —
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49. TEIN A% TGS el Afecd T & < E |
() ol (b) T (c) fromer (d) fE
= ST T e ¥ W& W g -
(1) (a) 3R (b) (2) (b, (0) ¥R (d)
(3) (a), (b), 3R (d) 4) (@), () (0 3R ()
50. TR ST |, 9w gHI T AR yafed gt T f r;
(1) et foum (2) et fom
(3) SeEqE au fst fammed 4) fa=t wﬁ%ﬁ@{ﬁwéﬁ
A
51. %[ h ] dlch{l HISQ’i <hl |°|°h|H IOhHII qrl | I
(a) TEHA Sl B (b) ’r@n:w@
() T g (d) SeE . red
1% o T e o ; f
(1) (a) 3 (d) ) ? C @ (@ b)) @@
(6) (), (b) R () " () (b), (0 ¥R (d)
52. EI&Th SeReEl A un{EqReh Bwd.
(1) - qH 'a; (2) 4TET (3) = (4) Wi
53.. ﬁmﬁrﬁ@aﬁ@ﬁﬁﬁ‘;ﬁrﬁfwﬁwﬁ’wﬁm%?
(1) » @ﬁvrr@famlqé 2) dr = () HH IR (4) WA st
54. ﬁ%ﬁ@ﬁﬁ@ﬁw%mﬁa@%@ 1766 H 2 - THER T3 ! Wasdl sTfafEm - HF w1 ga8
et stffafaa feam o ?
(1) (2) JWET (3) wired (4) <R
HIH\IHHHI\HHI\|||HH||\|H|\IIIIIHHIH||\||\|\|\||H|\ 2
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55.

56.

Which of the following statements about Gender Budgeting are correct ?

(a) Itis a separate budget.

(b) It is passed along with the general budget.

(c) It seeks to translate gender commitments into budget commitments.

(d) It addresses the needs of women in the areas of education, health, employ{m:ent, etc.
Select the correct answer from the codes given below : {

(1) (a) and (c) (2) (b) and (d) (3) (a) and (d) 4y (c) and (d)

J_' #

[

s & (
Which of the following are the compulsory prox;}ii'ons of the 73™4 Constitutional Amendment
Act (1992) ?

/ -'I

(@) Indirect election to the post of Chairperson ofl\Pan_dlhayats at the intermediate level.

/

F
Fd

(b) Reservation of one-third seats for women.

-

(c) Reservation of seats for backw&rci classes. f

(d) Constitution of a state Finghqex Commission.
g

Select the correct answer from the codes given below :

1) (@and () (- (2)  (a), (b) and ()
(3)  (a) (b) and (d) { 4) (@) (b), (c) and (d)
‘4

a

57.0 Which of the follfwiﬁg statements is not correct ?

D-0215 |”||H||”

(1) “India is a signatory to the UN Convention against corruption.

(2) India ranked 95t out of 178 countries according to the Transparency International’s
\ Index.

v
(3) I:_okpal and Lokayukta Bill was first introduced in Parliament in 1986.

(4) Central Vigilance Commission was set up on the recommendation of Santhanam
Committee.

IR z
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55.

56.

57.

e oo & 9 § frefafed 8 @ #F - @ S 9@ €2
(a) 9T TH JUF I T |
)

b) IR Y TSI F 1Y U BT 2

¢) THH I foAT TUEEdl I dsle FETegal B R ST B § _
(d) wﬁﬁw,w,mwh%mﬁmﬁﬁwﬁmwﬁmw%w1
= feu T e ¥ | wE SW g - f

1) (@) () 2 (b)) () @I« @ 2@

freferfa & & %1 @ 73 § wfaum weie sfafem qggz)-la%arﬁaﬁmm%?

a

) nmﬁwwu’aﬁ%awaﬁswm’rmaﬁ;ﬁ
b) rr%waﬁamaqm-mgwmmm o
) ﬁ@%aﬂﬁmmﬁmmi '

(d) T foa ST o1 e - Ve

(c

‘*ﬁﬁﬁ"{ﬂ‘{%@'ﬂﬁ‘?ﬂ?ﬂﬁﬁ:
%
1) (a) #R ()] 2 (@@, ()3 () (B) (@) b)) @) (@), (b) AR

, ﬁmﬁf@ﬁﬁﬁﬁ%—ﬁ'aﬁmﬂéﬁﬁ%?

(1) . IR 3 YSTER & fae® S99 T T4 & e § gwder 7 §1
I

(2) TRERIT SRR YEHF F AT 178 3T H WRA F1 TAH 959 B |

(3) Tc'.ﬁqnqlm T AR fasasd &l 998 § J8ai! 9k 1986 H Uqa fhan = o1 |

Sheld Tdehdl TN i TATAT TTHH QfAfd ot fawiRer o =t 7 of |

Doz HIH\IHIIHI\H\II\|||M||\|H|\IIIIIHHIH||\||\|\|\||H|\ 2
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58. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R).

Select the correct answer from the codes given below.

Assertion (A) : The ambit of RTI Act needs to be widened.

Reason (R) : At present, there is trend toward privatisation and outsourcing of many
erstwhile government activities.

Codes : i

(1) Both (A) and (R) are true and (R) is the correct explanation of (A) ; .rx )

(2) Both (A) and (R) are true but (R) is not the correct explanation of *A) r

(3)  (A) is true, but (R) is false

(4) (A)is false, but (R) is true - 4

r
s ¥ L |i
59. Given below are two statements, one labelleclil.é's Asseftion (A) and the other labelled as
Reason (R). / |
Select the correct answer from the codes given belolgr. _e'

Assertion (A) : Authority and responsibility are the t 0 sides of the same coin.

Reason (R) : Authority is divisible, responsibility is not.
Codes : %4 (
(1) Both (A) and (R) are true m%’fR) is the correct -explanation of (A)

(2) Both (A) and (R) are coﬁei:t but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A) is false, but (R) is true
i
w1

60. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). " &

/ Select the correcfﬁns_lwer from the codes given below :

Assertion (A) : I.he rconcept of development administration is of recent origin.
Reason (R) :  Many countries became independent after World War IL
Codes : |

(1), Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) ‘j'. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3) (:—A) is true, but (R) is false

(4) (A) is false, but (R) is true

o-azs [ I ;

o
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58.

59.

60.

Dozt HIH\INNI\H\II\|||M||\|H|\|||||H|!|“II\HH\I\HII\ ;

= T Fo fau U ¥, T F PR (A) 3R IR I ek (R) Fel T

= ST T e # § @& W g -

AUFRYT (A) : I &1 AR stfufEm (ARA.STE.) & &5 H1 far ffd S &1 stagaehal
gl

qeh (R) : e H FSieRor a1 3T qashlial § HIRR] skl 1 STSeH g & fha

M 1 99 g

e p
1) (A) 3R (R) I ¥ T, 3R (R), (A) FT T&l TIHHT T | "‘{f‘
2) (A) 3R (R) TA FA T, WG (R), (A) T T TIEHIT T2 ¢ |
(B) (A) TF B, T (R) 3T9A &

(4) (A) IHA T, Y (R) T T | ’E_
9 g1 e feu T €, @ﬁaﬁmm(maﬁwé;ﬁmﬁ (R)WW%H
e feq T e A @ wE I e

AR (A) waﬁwaﬁwﬁ@éfﬁﬁ%a%a}%}‘

T (R) : T Fa9 B, Tg Faeee) e 7@ 8 ;

%= e |

1) (A) 3R (R) SHT T €, R (R)4(A) 1 T&t TIEHT T

2 (A) 3R (R) 3 T AR), (A) B wE R

3 (A)W%,W@!(R)WI

(
(
(
4) (A) 38 T, qTQ(R)‘\??I%\’I

)
)
)
)

HﬁaEFmﬁ:q;Tq%‘,waﬁarﬁmm(A)Sﬂﬁ@aﬁﬁ(R)wwéﬁ
A few e g 43w SR 9

{ a:ﬁ:aam(&:ﬁ%m&waﬁmwmsqﬂaméﬁgw%

e (R) : ot fove 5 & 799 oTi® 3% ATNE & T
E3E |
(1) (A) 3R (R) 7§, SR (R), (A) F1 T TR B
(2) ¥ (A) SR (R) Sl 7 €, 3R (R), (A) H1 HE SR T R |
<3> (A) F T, T (R) A T

(A) 3T 8, T (R) ¥4 T

—
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61.

62.

63.

Which of the following terms of International Relationships was coined by Nicholas Onuf in

his book - World of our Making ?

(I) Realism (2) Neo-realism (3) Neo-liberalism (4)

Constructivism

Match List - I with List - IT and select the correct answer from the codes given below :

List - I List - II

(Authors) (Books)
(a) B. Buzan (i) Man, the State and War . f
(b) I Hansen (ii) Social Theory of International Poh.tics

b

[

() K.N. Waltz (iti) The Evolution of International Security Studies

(d) A Wendt (iv) People, States ang({ifear III
Codes : ;‘f \ .f.'

(@ () (¢ (d) \ J} 2
1) Gv) @) @ ) f a é

Which of the following is not correct regarding W.T.O ?

(H It adminis’aers W.T.O. trade agreements.

(2) Itactsasa ;orur'n for trade negotiations.

(3) It monitors national trade policies.

Ty

4) It suppliesI technical assistance and training for developing and developed countries.

vy
64. Whic-:h"country is the example of Latent Nuclear Capacity ?
(1) India (2) Japan (3) China 4)
o-azs [ I .

North Korea
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61. TTRITE AT 7 T & - doe % AR AihT ¥ U™ a4 & o) § fefared § 9
- 7% Q1§ ?

(1) auefame (2) Ta-FqAR (3) TA-TRAR (4) TAER

62. Gt - [ &I Gt - 1 § GAfaa wifsa qen 99 g 70 % § 9 9@ S I

T - 1 T - 11 y
Fram) () ,f 4
(a) I (i) T, T W TE AR
(b) . T (i) TS AR AE FEHAIA ‘4|IQ’1|¢°|'H
() H.TH. el (il) < FATCIIA ATH Rﬁsﬁm fw’{ﬁ-& R@ﬁa
@ T A (

iv) U, @zmﬁm

1) Gv) @) @) (i) 4 f
@ (v) ) G ) r? f

@) @ @) () (iv)

4 (Gv) (@) (@), (i)

63. ﬁﬂﬁf@ﬁﬁﬁaﬁ?wq IR G113 & Heel H Hal &l ¢ ?

1) %WWW(WE%@)%WW@WWW%

- wwﬁ@%m@wwmw@

3) , g T AR Aferi st FmRet a7

4l 2 ferTii 9o forfe i 3 for T ErT vS e 3 9 e 3

64. TFreafcifiad § @ B T A 7oA T &R HT ISR § 2
2) S @) == (4) S S

(1) 4 (
o-azs [ LRI .
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65.

66.

Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II

(a) Counter force strategy (i)  Types of nuclear strategy that threatens assets that
are valuable to an adversary, such as cities with
industrial assets and large populations.

(b) Counter - proliferation (i) International lawyers who argue that there is a legal
right of humanitarian intervention in both UN
charter law and customary international law.

"4
(c) Counter - restrictionist (iii) Term used to describe a variety ofiefforts to@bstruct
slow, or roll back nuclear weapons programmes and
nuclear proliferation.

(d) Counter value strategy (iv) Type of nuclear strategy that targets an adversary’s
military and nuclear c?pabilities.

Codes n |

@ ® © @ y A
W) () (@) @ 0 [\ ]
@ Gv) @) @ ) : \ -'
@) () O @) @) /
@) ) @) @ G Y ¢

4/ '

Who is given credit to coin the tfrm Soft Power ?
(1) Joseph Nye (2) "N. Alarcon (3) A.J. Bellamy  (4) S. Chesterman

i,

67. Marshall Plan, 1947 Was a]Tso formally known as :

(1) European Reconstruction Programme (2) European Revival Plan

(3) - EuropeandRecovery Programme (4) European Restrengthening Plan
§ .
68. According to K.]f Holsti, which one of the following is not a feature of the contemporary
state system ?
(1) = The rise inI the number and type of states.
(2) The great potential for destruction by those who possess nuclear weapons and modern
'\ _delivery systems.
(3) = The predominant position of influences that has been achieved by the three essentially
non-European states : Russia, China and the United States.
The large number of states are keen to join political and economic alliances.
Dazs IHIIHIIIIIHI!IHHI\H\IIH\HII\I\I\IHH y Faper
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65. Gt - [ & Gt - [1 § gAfad wifsa a9 99 fSu 70 % § 9 9@ s i

Tt - 1 T - 11
(a) 9fd o Torifa (i) RET] YOI T 9% YRR S SR stteal
(FR wiY Tfest) AT ISt TETET AT VIR Ht I3 T A A F
o Eaw 3cqe S § S 39 ford sged B
(b) 9fd gER (ii) ST Tt S T © fof 9% T =R

(TR JAREHA)

A qe1 FeIferd STisda & I § Aeta ged
=1 faftrer sifeer 2 /

£ s
WWWHWW@W@@%W,

(c) Uid yfdsiEramg (iii)
(PRI Rg==) iR A TYAT A T & o fha ST e s
YR % FAMI S T HA 2g TIH A3
(d) fd eI T (iv) Wwﬁﬁr?ﬂaﬁgmmﬁm@ﬁﬁwwm
(FRR 37 Tiesh) Wﬁa&a'aﬂ@w% 'i
%e: ;/.‘J
@@ () (o (d) I*’ \
1) (v) (@) G () ’ /
@ () G @ () \‘/
G) G) (@) (D) (i) _—
(4) (@) (@Gv) @ (i A ¢ f
66. A Th (TR IER) Wﬁﬂ%ﬁﬁﬁ?mw g fen S 82
(1) SIEE R (2) . aaam (3) WSS (4) THEIAREA
67. mﬁaw,wyﬁaﬁﬁaﬁ;ﬁwﬁ F w9 H oft TS
(1) Fdr qEfiaio srwy (e e gm)
2 Wﬂgﬂv@ﬂ?ﬁw (I Raaa @)

)
(3) T @H SrdshH (AU Rererdd i)
[ @) {aﬁwgﬂﬂ%ﬁﬁmﬁw (e fegsafin <)

.92 & AR, Fefafad § ¥ S Guehes I59 et w1 fasiod @ € 2

" (1) T3l i G& a1 ¥R | gig
(2), 3 T B G fawsd w1 A€t amar TR T e 2R e s famor yoned €
(3) ¥ v =t snifervey feafq 5 i stfaria: -t <u v, =9 ol w@yw T st |
USRS
T T {|\>|'<’4 S erifae e e Gl # wmita 3m & s s )
D213 \||\|\|“||H|\|“||\|||M||\|HH|||||H|!|“||\||\|\|\||||\ s —
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69.

70.

71.

e
A~~~

The Principal purpose of India’s foreign policy vis-a-vis the UN is to pursue three closely
related goals. Which of the following is not included among them ?
(1) A significant role in the shaping of international relations in the 21%tcentury.
(2) A movement towards a non-violent and humane international system.
(3) The promotion of conditions for a sustainable and relatively equitable pattern of
international development.
(4) To help UN to develop its own financial resources. :
II "
Which of the following is not included in the Doctrine of Panchsheel, 1954 ? {
(1) Mutual respect for each other’s territorial integrity and sovereignitgl. [
(2) Not to develop nuclear weapons. {
(3)  Equality and mutual benefit. -*. f
(4) Peaceful Co-existence. // \ ‘,..: {
Match List - I with List - II and select the co_i‘iect answelfI from the codes given below :
List - I ! List - II /
(Regional Organisations) (Regil‘rﬁ :
(a) OSCE (i) Europe .w=
(b) V4 by “(ii) Eurasial
(c) BSEC _ d._){ (iii) Euro-Atlantic
(d) NAFTA __h i (iv) North America
Codes :
(@ (b) (o) ‘i. (d).
) ) () G )]
2 (v) (i) | () @)
3) () - ()4 @) (v)
9 @ @ o

72. The roots of newly emerging forces of globalisation have been traced in specific economic
and political developments in the late 1980s or early 1990s. Which of the following can not
be included in this category ?

(1)|'~ The end of Cold War.
(2) - Testing of nuclear devices by India and Pakistan in 1998.
r
(3) Dismantling of state socialism in the USSR.
(4) The collapse of the Berlin wall.
s [ RN .
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69. TIH T WY & uRled § 9Ra =1 fadw Aifd &1 g 3cevd €7 s w9 4 2 e § 1 37 @Al
frefafed # @ =1 mita 78 €2

(1) 21 91 ¥ UL HY Hl AHR Y H H AUl fHahT

(2) AfHer qen wraifad SRS gomelt =t fown # sticer |

(3) i fashma o Taq aen eTeRa =FETa Ted & ford feafaa =i agan |

4) Wwﬁﬁwﬁﬁﬁaa@mwmﬁﬁw%mwﬁwwg
i

70. Trefefea 3 § % dovie w1 fagi, 1954 F W T8 § 2 (s
(1) T S O sred ao Teqed o ford Iredfie T f f
(2) T SRRl 1 faer e e
(3) EHT qT IREARh 14 e
fferqul wg-erfeqe B -
(4) ifqqet /‘J 3
71. e - I Geit - Hﬁgﬁmﬁﬁﬁamﬁéﬁqw%ﬁﬁvﬁwqﬁﬁ

et - 1 et - 10| \ |
( &t WeT) (&) »'/
(a) SNTEHE (i) {&3‘\ {
(b) 4 (i) ﬂqjgfsm .
(c) wTEiH (i), - st
(d) TR(TLTRATL) Tv) ST SRR
%< .
@@ () (o f(d)
1) @) @ |G ()
(2)  (@v) (i) 4 (i) ()
@ O @ G Gv)
f@) @ d (

) F V), (i)

72.  HSHATHIO 1 TFellfed Wbl i STl 1 o 1980 o S & UG a1 1990 % TUF &% Yelig |
Torf¥e arfefes ot Rrormitfesh fershre & e o T € 1 59 goit # freferfad # @ i wte 78 € 2

(1) I g hl HHIE |

(2) Va9 1998 H WRA AT TR GRI TLATY] ST HI TI& |
3) -{Eﬂweﬁr{ H T G H faeed |

(4) dfcid i TER &1 AT

o-azs [ LRI ;

AN
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73.  Who among the following is associated with Democratic Peace Theory ?
(1) Kenneth Waltz (2) Michael Doyle

(3) Jackson and Sorenson (4) John Mearsheimer

74. In which country did Saudi Arabia militarily intervene in March, 2015 ?
(1) United Arab Emirates (2)  Yemen e
(3) Egypt (4) Kuwait . {/ )
[ F
75. Which of the following are organs of organisation of American States ?

(a) Secretariat : i

- { ¥
s N “

(b) The Inter-American Conference

i Jr
(c) The treaty of consultation of Ministers of/g(;reign Alffairs

(d) The Council ;.“’ \ )
Select the correct answer from the codes given below‘ ]ﬂ
nd (d)

(1) (@), (b) and(c) 2) () (©

-

(3) (), (b) and(d) L@ @ () fnc—i (d)
</ '
__} i % o0o-
.i -'{

4
, |
\

y
ooz [ {HEHIRLAAHIN y
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73. frefafaad § 9 ®1 dwaite i fosid 9 99§72

(1) &Y Feet (2) WERA SEA
(3) ST AR TR (4) < fERRmER

74. W€ 2015 3t 39 1 forg <o § ¥ g=ay fohan ?
(1) |IH I THRI (2) =HA
3 fm= (4) Fd

75. Tr=fafad § @ 9 WS T & 96T & A 3§ ?
(a) wfgare

(b) STR-STHIEH e / B |

() Tocw w4l =1 foem-fomel |fy

(d) g f

et feu T e A | W S T

(1) (), (b) 3 (c)

(3) (a), (b) ¥R (d) <
Vi .

-00o0-

o-azs [ LRI ;
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